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Example 1
Dissolve 6. 699 of LiCl in 100.0mL of water at 24.2°Cina wlonmeter The final temperature of
the water is 37.4°C. :

a) What is the molar heat of dissolution for LiClI? = - |
b) Write a thermochemical equation for the dissolution. |
c) Create an enthalpy diagram.
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placed in 0. 'LOO L of water. What i ls the temperature change of the watet‘?\
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"Example 3 -

In a laboratory a water bath contains 12L of water that must be kept at a constant
temperature. Accidentally a researcher spills 25.5 g of LiCl into this bath. Use the following
table to determine te-detesmire the mass of the appropriate substance that must be added to
the water bath to return its temperature to the initial value. .

Molar heats of solution
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Sterno, a solid portable fuel also known as canned heat is burned in fondue pots. Its
composed mainly of ethanol. C,HsOH. Cooking oil used in fondue pots has a specific heat
capacity of 2.01 J/g°C and a density of 0.92 glcm3 '

At a dinner party, the temperature of 500.0 mL of cooking oil in a pot was increased from
25.0°C to 300.0°C. Given that ethanol burns as follows:

CzHaOH(s). # 302 @ — 2C02 (@) + 3H:0 (l) AH = 278 kd/mol

How many grams of ethanol were burned to heat the on! to 300 0°C?
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